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Sweden, Post Giro: 639 60 60-3 
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Germany, Rosa Mai,Konto. Nr.:   583657502 

Bankleitzahl: 37010050, Post Bank 
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Canada, ICRC , Scotiabank 

4900 Dixie Rd, Mississauga, L4W 2R1 

Account #: 84392 00269 13 

 (;<8 : 
Bank: RABOBANK, Darande hesab: FVIVN 

Shomare hesab: 15 13 50 248 

Adres: EINDHOVEN 

IBAN No: NL74 RABO 0151 350 248 
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Bank of America 

277 G Street, Blaine, Wa 98230 

phone # 1-360-332-5711, Masoud Azarnoush 

Account number :   99 - 41581083 

wire: ABA routing #  026009593 

swift code : BOFAUS3N 

                                                          �C�� 
��8 �; &� 6 E�DC"� &� 1�8 >Z�6 E�DC"� j��P >
��F   :  
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branch:  Wood Green , Bank:   NatWest  
IBAN: GB77 NWBK 6024 2345 4779 81 

BIC: NWBK GB 2L 
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